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17tED3

Gaffin - cross

A Yes.

(2 Uho did the work of identifying whether a particular 

customer was a mover or a constant?

A— riy company did- 

a And if I understand what you did-, you compared the 

customer’s name that would be given on a ITVM 

listing of customers to the name given on the nflO 

listing of customers-, and 'if it was different-, then 

that was a mover?

A. Ue looked both at the names and the addresses-

Ue compared a listing for John Smith at 1221 

Lorain Avenue — first we looked to see whether 

12E1 Lorain Avenue was still on the list.for 1560-. 

and then if it was. we looked to see if John Smith 

was still listed as a customer there-, and then ue 

considered him part of the residential constant 

subuniverse-, and if there was another name at that 

address-, ue considered Fir- Smith part of the 

subuniverse that ue labeled "residential movers-" 

(3 And if the Lorain Avenue address that you mentioned 

is not on the IHfiO list-, you didn’t include it in 

the universe at all?

A If the address was not on the list?

(3 Right-
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Gaffin - cross

A No; that is not correct-

d If the address was not on the ITfiO listn it was 

included in your universe?

A That is right; that is not correct-

(3 Excuse me- I will try that again-

A Okay-

(J I gather that you wanted to call all the persons or 

businesses listed on the' 1580 printout; is that right?

A That is correct-

fl And if the name appeared on the 1174 printout and not 

on the llfiO. printoutT you didn’t call them; right?

A If the name —

fl I am sorry — if the address appeared on the 1*174 

printout and not on the llfi.Q printout you didn’t 

call them?

A That is correct-

fl And so those peoplen even though they did receive 

contractor paymentSi they are out in this group 

{indicating! as far as your universe is concerned! 

they are outside the frame?

A I am not sure of thatn no-

fl hlelln you testified that you didn’t consider them

part of the universei didn’t you?
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Gaffin - cross

<3 I am talking abouti right noui about a situation 

where the address is not on the IISQ list-

A If the address was on the nVM list and it is not on 

the nflO listn and what is it you are asking me?

<3 You testified that you did not call or try to call 

those people?

A No; I haven't testified to that-

ns. COLEHAN: Royn wduld you go

back about four questions and read the record ■« 

please.

■[Record read by reporter.!

ns. COLEnAN: Thank you.

<3 Are you changing your answer now?

THE COURT: I don't think he

finished reading the complete context. Read all 

of it.

■[Record read by reporter.!

THE COURT: Uelln I think we

have to clarify it for everyone's benefit.

ns. COLEnAN: All right.

i3 Uelln you had a IITM list and a nflU list?

A Rightn and each list consisted of names and addresses

<3 Yes; and some addresses for this 1174 list were not

on the naO list?
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Gaffin - cross

That is correct.

And to the extent that that occurred-, you didn't call 

those people whose addresses fell into the 1174 list 

and not into the ITfiO list?

I am hearing you make a distinction between calling 

an address and calling people-, and that is what is 

causing my confusion, so if you could rephrase that, 

if you could rephrase that and either refer to people 

or an address, I might be able to help you-

I am referring only to addresses, but somebody has to 

answer the phone?

Yes-, but if the address appeared in the 1574 list

Right-

— and the address did not appear in the 1560 li^-. 

then, is your question to me, did we attempt to contact 

the person whose name was associated with the 

address that appeared in 157H?

Yes-

Okay- The answer to that question is no-

Thank you-

Now, we move from addresses to names-

All right-

You compared the names on the 1174 list to the names

on the nSD list?
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Gaffin - cross

(J _ or we could have a situation in which a company 

is doing business-i and in 1174 their electrical bill 

comes to Hr- Jones-i the bookkeepern and in 1174 

correction — in 1160 the electrical bill comes to 

Hr. bJhiteT the bookkeepern since Hr. Jones is no 

longer therei rights*

A I am not so sure about that.

If Ait is the same companyn unless the company 

changed its namsi it seems to me that the company 

would be receiving the billn and it might be in 

somebody’s attentionn but the company name would still 

be there.

(3 If the name you were given on the list by CEI gave 

you was the name of the bookkeeper or accountant! 

because that is the way the company treats the 

matter! if the name changes! you treat it as a moveri 

right ?

A If the name changest we try to find the person who 

was named in the 1174 listn yes .

(3 And when you find that person! you treat the 

results of the interview in the mover classification?

A That is correct.

i3 Now! there are at least a couple of instances in your 

classifications where it is suggested on the face of
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Gaffin - cross

the customer lists themselves that there is probablyn 

probably has been no change-, and there may have been 

no change in the customer in nVM-, and the customer 

in nao-, and I direct your attention to — it was 

157M — and it was "Les’s Cleaners-, MMS7 Broadview-," 

and that was the name on the account in 1574-, 

and you are welcome to check this if you have tue 

printout to see that that was one of the addresses 

and names-

lilill you accept that?

I will reserve the right to check it-, but go ahead-

3 And in 1530 for 4457 Broadview the name of the 

account is Les Uler-

A Okay­

fl And it certainly may be the case that Les Uler has 

always been there doing business as the cleaner or 

otherwise?

A That is possible­

fl And he was treated as a mover-, I submit to you-, and 

that could be wrongs right?

A It could be-

fl And in other situations when the name change was the 

name of a change of a bookkeeper or an individual 

business becoming incorporated-, you might have the
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same kind of problem creeping ini right?

HR. nURPHY: Objection-, your

Honor.

THE COURT: Well-, this is an

appropriate time to go to lunch-

Ladies and gentlemen-, please during the 

lunch hour keep in mind the Court’s admonition-.- 

and you uill please come back at 1-3D-

{The jury was excused from the courtroom-1

{The following proceedings were had at the 

bench:!

HR- nURPHY: I object-, only for

the reason that there is an unfounded inference 

that there were other such instances-

If Ms- Coleman wants to ask the question 

as a hypothetical-. I have no objection-

THE COURT: Yes-, if you are

going to hypothecate some facts-. I think you 

ought to make it clear in the question that you 

are hypothecating them-

nS- COLEHAN: All right- I thought

I had- Okay-

tlR- nURPHY: Thank you-
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Gaffin - cross

{Court was adjourned for the luncheon

recess.}
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FRIDAY-. SEPTEMBER 16-. nai1:MO O’CLOCK P-M-

THE COURT: Please be seated.

Bring in the jury.

{The jury entered the courtroom and the 

following proceedings were had in their hearing 

and presence.I

THE COURT: Please be seated.

FINIRA G A F

testified furtherresumed the stand and

as follows:

You may proceed-.THE COURT:

Us. Coleman.

Thank you-, yourns. COLEHAN:

Honor

CROSS-EXAniNATION OF IRA GAFFIN {Resumed!

BY ns. COLEHAN:

(3 nr. Gaffin-, did you have a chance to check MMS4 - 

4457 Broadviewf*

A Pardon?
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(3 bid you have a chance to check the address we were 

talking about at the end of the hour —

A Not I did not.

(3 At lunch?

I did-, and I find that it was — our research of 

that shows that LessUler is "the owner of that 

property rather than the CEI list.

It is possible from public records-, in your 

experience! to determine ownership of property?

A To determine ownership?

(3 Yes.

A Yes-, it is.

(3 It’s like the County Recorder’s office or something

like that?

A Yes.

i3 And looking at the situation that we talked about in

the hypothetical wherei in fact-, there is a name 

change but it’s because of a new accountant or 

because a proprietorship has become a corporation-, 

if those situations exist among the lists of businesses 

that you have-, there may be some error introduced 

in the classification of someone as a mover or a 

constant?

A I don’t think so.
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3 If you classify someone as a mover because the name 

has changed! but the fact is that the business is 

still operating therei doesn’t that introduce some 

error in the situation into your classification of 

the customer?

A I don’t think so-

I would like to explain why I don’t think so. 

Suppose -- this is a hypothetical! again! on

■my part-

Suppose there was a company by the name of 

ABC Company at the address on Lorain Avenue and they 

changed the name of the company to XYZ.

Our attempt would have been to find ABC_Company- 

Ue would have put ABC Company in our universe of 

movers •

Ide would not have interviewed ABC Company unless 

we had found a listing for ABC Company elsewhere in 

the county and had asked the respondent whether the 

respondent was ABC Company! and the respondent had 

said "Yes."

So the answer to my question for you is no. 

a Idell! rather than the name change! if it were an 

individual! and the individual listed is the

bookkeeper for the company ~
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Gaffin - cross

A Yes.
, „ and the bookkeeper's name is changed, and so you

called the original bookkeeper and located him or her 

in the home addresses of the phone book?

, ves. That is the person that me do uish to intervieu 

since that is the person whom me assume made the

decision.

You assume made the decision?

A

a

Yes-1 assumed.

In the completed interview
with that former bookkeeper

will be classified
in the mover's classification, mill

it not?

a

That >s

If

correct•

that
person tells us that she or he is the

same person who ue mere looking for and made the

decision, and then ue mould complete the 

and me mill classify that interviem as a

interview -i 

complet ed

residential mover or commercial mover-, corr

And if he or she has moved on. but the company is

still there, you nevertheless classify the

completed interview as a mover interview?

A

(3

Yes-i that is correct.

And you mentioned that in the 

person that we have called to

conversation with this 

conduct the interview-.
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you would identify whether they are the person that 

made this decision-

Is there anywhere on the questionnaire where you 

ask whether the respondent is the person who makes 

the decision about electric bills?

A No -

(3 Is there anywhere on the questionnaire where you 

if that is the person that made the decision about 

switching?

A No -

<2 Let’s turn from the question of universe to the 

question of saraplei Hr- Gaffin-

You referred us before to a simple situation 

wheren I assumei everyone in. the universe is the same 

although the n and Us may be different colors; is 

that right?

A You mean that everyone is an tl and H?

(3 Everyone is an t1 and H-

A Yes­

es Some may be red and some may be chocolate all the

way-, but as far as you are concerned-, they are all 

n and Us?

. A Yes-

fl And your sampling technique involved the assigning
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Gaffin - cross

of numbers to each one of the units, and then have a 

random number generator tell you which ones to pick 

out for your sampled is that rightf

A Yes. .

(3 Noui when you chose this samplei that is a very 

important exercise of the overall integrity of 

survey?

A Yes.

a Because what you want to be able to see at the end 

is that, I thinkn that the sample that I have chosen 

is representative of the whole universe that 

supposed to be studying^ is that right?

A Yes. That is the case of the sampling.

a And the use of the random numbers is considered by 

the people who make surveys as perhaps the best way 

to guarantee this idea that the group chosen will be 

representative of the whole if you were choosing a 

sample, is that right?

A No.
The reason for choosing a random sample is not 

that it guarantees the representativeness of the 

sample in relation to the universe, but it enables 

you to know precisely what the range of sampling
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Gaffin - cross

a Because if you had a random sample, you can calculate 

sampling error for a statistical method’, is that 

correct?

A That is right.
a And if you don’t have a random sample-, you cannot?

A That is correct-
a Nou, let's look at the actual situation that you had 

in the particular survey that you come to testify 

about today.

The universe which the attorneys for CEI gave 

you to work with was 1H73?

A That is correct-
a >nd you started out - and perhaps I should start ulth 

a clean slate here — uell,. let’s go back.

You started out with a universe of 1273 within

the frame?
A Mell, they were really - there were really five

universes.

(3 Five universes-

Nowi for convenience

A

<2

Start with No- 3-

All right. Ue will start with No- 3. and

essentially the frame -- the frame was that group

of customers CEI gave you to look af-. right - I am
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sorry. Perhaps it is bad phrasing of the question- 

Your universe was the 1273f

A That was a super universe that was a class of all 

customers who had switched, but for purposes of 

discussing the report and the sampling and the 

universe, I think you have to refer to them combined.

Combined together they add to the 1273-

<J can we for the purposes of my question have an 

understanding at this stage that if I refer to 

universe, I am referring to this group as a whole?

U h'nbt- but I don’t know that I will be
A You can have thatn dul x

understanding you-

a well, I would like to make sure that my questions are 

in the same terms that you are going to answer-

So, for the time being, when I am referring to 

universe, can you accept that I am referring to this 

whole group, unless I indicate otherwi. e,

A Sure-

(3 Thank you-
Now, you stated that that was the universe of 

all people who switched from Iluny Light to CEl, but 

we established this morning that due to facts that 

you are not familiar with, that that may not be the

cas e?



1

2

3

4

5

6

7

.8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

17-.221

Gaffin - cross

A I don’t know that that is established-

a You only know you remember working with this number 

■Cindi eating! 1273?

A That is correct-

a And that is a super universe- That is not the 

universe from which your samples were taken 

directly-, is it?

A That is correct-

(3 And in fact the first thing that you had to set out to 

do when you had the 1273 in the universe was to find 

out whether you would be able to call them-* is that 

right?

A No -

a Well-, it was one of the things that you had to do in 

order to make your interview^ right?

A In order to complete the interviews.

Q _ because your interviews were done by phone?

A That is correct.

a And therefore you had to find the phone numbers for 

these people or businesses?

A Yes-

(2 And that undertaking was done with the benefit of 

the phone directory-* the Haines directory-, the 

Criss-Cross directory which takes you from
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addresses to phone numbers and vice-versaf

A Yes.

£3 And when that work was undertaken-, the result was-, if

I follow your report correctly-, that out of the 

l-,2?3 in the universe you found numbers for only

- 701 potential respondents^ is that right?

A I can check.

(2 hlill you check bhat.

A Sure.

-CAfter an interval.I

701n that is correct.

i2 Thank you.

Now-, as the interviewing itself progressed-, your 

interviewers encountered some problems with the phone 

numbers that they had found-, that some were wrong 

numbers-, and some were not working^ is that right?

A I don’t know that there were any wrong numbers.

There were a number of numbers not in service.

d If there were wrong numbers-, then the interviewer 

would note "Wrong number" on the work sheet that he 

had beside him or her at the phone ?

A Yes.

a And if we find the notation "Wrong number"-, that 

is what that signifies?
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Gaffin - cross '11

A That is correct- a
a 

£2 You testified in response to questions by fir- flurphy a
3 I 

about the instance where you were dealing with the ||
’ I 

name of an individualn and when you went to the phone I

directoryn you found several people by that namei I

do you recall? ’ j

A Yes- 1

(3 And it was your testimony that in those instances I

you called each one of the numbers in order to trace I

the person that you wanted to talk toi do you recall ,|

that? I
’I 

A The person of the specific name- jl

(2 Now-i in factn what your interviewers did when they J

found there were several people with the same namesn 

they would give up? M

A No -

13 Idould you look at the work sheet for the commercial 3

moversn please? -I

A Yes- 11

(3 And this isi I gathern the sheet which the interviewer I

would have at hand when making telephone calls; is ||

that right? d

A Yes; that is one of the sheetsi yes-

<3 And they would have an interview form? j
# 1

II
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A Yes.

a And this work sheet provides information on the name 

of the person, the address, the telephone number 

found by your researcheri is that right?

A That is correct-

(3 And information is supposed to be noted on here as to 

the results of the attempted interviewsi right?

A It is not necessary that it be noted, but the 

interviewers for their own benefit usually do make 

notes■

(3 And is it your understanding that when they have a 

star, that signifies another completed interview?

A Sometimes-

(3 At any rate, since they were making telephone calls, 

they cannot complete an interview unless they have 

a telephone number associated with a particular 

personi is that right?

A It is correct that unless there was a telephone 

number associated, that that person or that company 

would not have been a part of the universe from which 

the random sample was drawn­

fl And the universe from which the random sample was 

drawn is, as we were saying, a different universe, 

a subgroup of the universe of names that you were
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given, rightf

A Yes.

(3 And it is shaped not for random selection, but by the 

question of whether you can get a phone number or 

not. right?

A Yes-

a Now. on this work sheet, whether someone was eligible 

for selection because they had a phone number is 

signalled by whether there is a number in the 

right-hand column of the page', is that right?

A Yes. all the way on the right-hand column­

fl All the way over in the handwritten is that right.

A Yes.

fl And if you look, please, you have got numbers down 

the far left-hand side indicating the number of lines 

on the page, do you not?

A Right-

fl And will you look with me at the industries numbered 

IM, number 3S. number 71. and number fiM. and number fit 

and number 5t. and number 14M. and I am referring to 

the numbers on the left-hand side.

A Oh-

fl And — should I do that again?

A Yes.
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1 Gaffin - cross

2

3

a Mould you look at the numbers on the left-hand side

indicating the entry

4 A Yes-

5 a — No. 14t —

6

7

A Yes-

Can ue stop with that one for a second. No- 14?

8 a Let’-.s go through and identify them first, please.

9 A Okay.

LO (2 Mould you look at No. 14?

LI A . Uh-huh.

12 (3 No- 35?

13 A Uh-huh.

14 (3 No. 71 •. No. 54, No. fib. No. 5b, No- 144?

15 A Yes.

16

17

18

19

a And in all of those instances, your staff member has

noted either three or four or two people, same name 

□r listings, or something to that effect in each of 

those entries, isn't that right?

20 A That’s correct.

21

22

a And there are no phone numbers in those lines at all

are there?

23 A That is correct.

24

25

(2 And there is no sample number on the right-hand side

there, is there, —
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A That’s correct.

(3 — on any of those-

AndT therefore! none of that group we have just 

looked at were included in the group that had 

telephone numbers that was remaining for you to 

choose a sample fromi is that right?

A Yes-

12 Nowi therefore! when we come to the question of what 

universe you really are working for the purpose of 

your survey! it's not the 1!273! because you didn t 

find phone numbers for all of them! is that right?

A Correct-

a And it's not the — there is also a group in the 

1!273 for which you couldn’t trace — for which no 

one traced down a phone number to a specific person 

ri ght?

A That’s correct.

t3 And so there were 701 telephone numbers in the 

universe that you worked with! right?

Ctls. Coleman writing on the large white 

pad on the easel-l

A Yes.

Well! there actually were more telephone

numbers than 701-
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these
hJella

A

Both phone(3
yourbeen listed onwould haveBut both phone numbersA

number­numbering as one phone

Right •a
associated withrespo ndent sSo there are 701

is completed

Basically-A
universe from

And so it’s ona
firstin thewhich.you took the samples which you

samples?tookinstance

That’s correct.A
tell you

And there is noa
thiso f

that this group

Correct-A
theonpage

subun iv erses
Nowa

But both phone numbers 

numbers were tried?

Gaffin - cross

separate classes of

large white pad on the easel-l 

in the instance — turning to the

■Cns. Coleman turns to a claim

which you wanted to talk about-.

by the staff ■> right?

telephone numbers after all this work

group -Cindicatingl-. right?

someone might have said one or the other

this then which is the

statistical rule which would 1 

is necessarily representative

phone numbers-, and so on?



1 Gaffin - cross

2 A — uh-huh-

3 <2
- in the instance of the industrial group, because

4 there -ere so feu of them, you uere given lb names.

5 is that- right?

6 IL companies! yes-

7 a IL companies-

8
And your staff set out to contact each, one of

9 them?

10 k No-

11 a Each one of the IL?

12 h No -

13 a
Mr. Taffinn by jumping fromI may be confusing you-, hr- Gaffinn y

14 sampling to the actual interviewing.

15
bjhen it came down to the process of interviewing

16
the respondents for the purpose of your survey report.

17
it was your intention to speak to each one of those.

18 was it not?

19 K No •

20 12
You told nr- nurphy that the first thing that you did

21
when you made the survey was to take a sample, is

22 that right?

23 A Correct•

24 (3
in the instance of the industrial customers, you

25
didn't take a sample, but you did do a pre-test, right?
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A Did both-

(3 You did both?

A Correct-
a knd you did the pretest out .of the sample/is that

right?

No-I that’s not-A

tolet's turnWell n(2

{After

turn toLet' sa

bJhat you
sample

IL industrial

an interval-1

your discussion of the survey technique-

say you did is from the universe of 

customers! a scientific random

of 13 companies was selected?

A That’s correct-

And that left you 3?

A

a

A

<3

That’s correct-

And you did the pretest on the three?

From those three-, that’s correct-

And when you finished with the pretest, you then 

called or tried to call the remaining 13, right?

A Correct-
a And then when you tabulated your results, you threw 

the results of.the pretest in with the results of 

the phone calls of the remaining random sample for 

the tabulationn right?
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’ I 

They were included but not thrown in with them-

(3 Well, you did it as carefully as you could?

Al No.
They were included because -- they were included 

because all of the companies of the 13 had been 

attempted to be contacted and, therefore, in the 

pretest, the three remaining companies had been 

attempted to be contacted, two of which were 

contacted. .1
so u,hat lie ended up with in the case of the ,1

industrial .as not a poll on the basis of the sample,
J I 

but a canvass on the basis of interviewing or 

attempting to interview every member of that 

universe-, and that’s why the pretest interviews were 

included with the interviews completed from the

random sample-

a And so, as I said, you did attempt to call all lb 

of the industrial customers, right?

A Yes-
e Nou, when you turn the question of the commercial 

and residential customers, there were quite a large 

number of them, so that you determined, in the first 

instance, what you were going to try to do is, you 

were going to call some of them and you would take
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a samplen is that right?

A Correct-
a And so you started out with this universe of 7D1 

total, and of that group, there .ere lb industrial, 

and there .ere phone numbers found for 526 commercial 

J., soppy - S2fi residential and 157 commercial?

A Yes.
a And, by the may, there mere only phone numbers found 

for IS of the industrials?

A ' That's correct-

a And you decided that you mould, in the first 

instance, start out to take a sample from the 

1571 and a sample from the 3261

A Right-

(2 — as we have already discussed?

A Right-
n But the methodology here -as to assign 150 tags to 

' the people for whom you had phone numbers, and then 

use this random generation, is that right?

A That's correct.
a And you picked out 240 would be your sample of this 

residential-, and you picked out 100 to be your 

sample of the commercial-, is that right?

A I don't think so-
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I think one of those is correct, but let me just 

check-
a I have added together the movers and the constants.

Do you understand my question that uayf

A Yes-

Let me just check anyway-, if I'could.

-CAfter an interval-1 
z *

A Yes-, okay-

If you’re adding to the samples of MS 

commercial movers and 55 commercial constants, you, 

have a total of the two samples of lOOV but there are 

two separate samples-
And then the same thing in the same uay occurred 

uith the residential: There mere two samples of 

residentials-

fl So when you said you took a random sample, you took 

a random sample out of the group that had phone 

numbers-, right?

A That’s correct.

fl And when you took the sample, when you started out 

with that method, I would assume that you had in 

mind that you would get a certain rate of responses 

among those people, is that right?

A No -
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1 Gaffin - cross

2 s Uell, in deciding, in the first instance to take a

3 sample, what you started- out to do, rather than to

4 try to talk to everyone who had phone numbers, you

5 considered that you might be -able to get the

« information you needed based on the sample rather

’’ than catling everyone, isn't that right?

® A For economic reasonsi yes-

’ , lid you have in mind thav calling EMO residential

customers would produce any number — any particular 

number of completed interviews?

“ A Noi because there was no experience rate of

completion in this case-
« lid you have any range in mind that you would find 

acceptable^

A I wanted to complete EMO interviews among the 

residential groups and 100 interviews among the 

commercial groups for statistical reasons.

19

20

21

22

23

24

25

a Right•
And if you couldn't complete all of them, what 

range of responses out of the EMO residential or 

out of the 100 commercial would you have found 

satisfactory so that you could stop at the completion

of the sample?

A None-
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2 ■ Hn raffinn you state that after you 
a In your survey-, Hr- Gaftm-, you

3 T Holipve I'm correct. chose the pretest group — I believe

4 ■Cns- Coleman examining her papers!

5
a NO, ifs aftor the pretest, pretested the puestionnai

6-
Then you state that interviews were attempted

7 with each of the accounts in the two samples.

8 After three days of interviewing, it became

9
apparent that the samples would nl>t yield sufficient

10 Interviews for the project! do you recall that

11 statement?

12 A Yes; that statement is in the report-

13 a And that statement is in four places in the report:

14 For the commercial movers, the commercial constants

15 pesidential movers and the residential constants?

16 A Correct-

17 a that statement indicates that whatever it is

; 18 hi-inn fls a result of the sampling you you were getting as a re^ux

19 thought wasn’t enough-, right?

; 20 A In. terms of numbers-, correct-

21 a In terms of numbers-

22 Hy question is:

1 Nhat response rate were you getting when you

K tried to get the calls off the samples that you

■ decided was inadequate?

y / 
/y

i!^
J
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A It wasn’t the rate that was inadequate; it was the 

number of completions that wasi in my judgment-!

■ inadequate-

1 fhp numbsr of completions(J Did you understand that tne numu

I’m trying to establish terminology, excuse me-

When I refer to "response rate"-, I have in 

mind the relationship of the number of ibhfe potential: 

respondents, the number of completed interviews?

A Yes.
fl And expressed as a rate, the number of completed 

interviews compared to the number of potential 

respondents would be a response ratef

A. Yes.
That’s not relevant to the question at hand,

I believen Us. Coleman.

The number of interviews desired determines, 

in the case of a sample, what the margin of sampling 

error would be.
The number of the interviews selected for each 

sample size initially were based on that statistic. 

So the reason that a sample size of 13 was chosen for 

the industrial group was that if completions had 

been made with 13, the sampling error 

the error that would have occurred by completing
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the lb — the 13-. rather-, but not the lb — would 

have been known and measurable, and those considerations 

mere the considerations that went into choosing the 

original sizes of the samples-

The statement about the numbers of interviews not 

being satisfactory related to the numbers not as a 

percentage of the total numbers wanted, but numbers 

as themselves, because that determines what the range 

of sampling error is given the size of the

. , - _ comDleted ssrnpl®*universe and given the size of each comRi

I Let me see if I understand this-

You are saying that if you want to treat the 

sample as representative, you would have had 

complete 2MD residential interviews in order to be 

able then to see what the sampling error 

as regards the 526 phone numbers^

A No-
If I had wanted to say that the sampling 

that the results of the surveys of residentials 

mere at a rate of 1 plus or minus X percent at some 

level of confidence, then I would have to have

completed the 2M0 interviews-

Completion of fewer interviews, assuming that 

they were all attempted, would have been satisfactory
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a

A

(2

A

in one sense, but would have yielded a larger

potential sampling error*

Nou, as ue uent over before, you can only calculate 

sampling error and. level of confidence if you have 

used the random sample method, is that right?

No.
Well, in this situation where you're not working off 

a random sample, you can't use statistical methods to 

calculate the level of confidence, can you?

No, that is not true that you can't only ,in those 

calculations involved, because if you exhaust 

universe-, then there is no sampling error*

a Idell-. nr. Gaffin-, in this instance, the universe was 

7D1 phone numbers-, persons with phones-, rig 

ffls. Coleman writing on the large white pad on the 

easellf

A Uh-huh.
„ And the number of interviews completed, according to

A

<2

A

your report, was 21M. right?

That’s correct.

So you didn’t exhaust the universe 

completed surveys with everyone in

in terms of making 

the universe-, right?

No^ wrong.

Ue did-, in fact-, exhaust the universe



1 Gaffin - cross

ITnaaT ,!

2 a You exhausted the universe in trying to call people?

3 Correct-

4 fl But in terms of completed interviews-, you did not

5 complete interviews with everyone in the universe of

® the 701 phone numbers?

- A That is correct.

8 a And the 21M interviews that you did complete are not

8 necessarily a random sample of the 701 phone numbers-.

are theyf

11 They, are not at all a random sample-

12 g jhey are not a random sample because you came down to

13 this as a result of a variety of forces-, including-.

14 first-, people not being home when they’re called-, is

that right?

That could be-, yes-

fl And-, second-, people refusing to cooperated right?

A Uh-huh-

19 third-, the staff got the wrong phone number-, or

20 the phone number was not in service?

A Yes-

22 . that when you talk about what the responses were-, you M

23 be completely confident to the extent your survey J

24 ^3 properly put together if 21M people said what ,j

25 t,3e survey says they said-, right?
■t' 
is'
I
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That’s part of what you can be completely confident oft 

yes.

a But because this is not a random group as compared 

either with the group of phone numbers or with the 

group of 1-.273 in the initial pool-, you cannot use

- statistical methods to say that this group necessarily 

is representative of that group {indicating!?

A That’s correct.

(3 Idhen we were talking about the industrial customers-. 

Hr- Gaffin-. .you stated that you ended up including 

the pretest results with the completed interview 

results in your tabulations-, right?

A Yesi the pretest results were included with the 

results from the original random sampling.

a In the case of the commercial interviews — I have to 

go back to specific statistics here

{(Is. Coleman steps to the easel.!

a' {Continuing! In the case of the industrial customers 

you started out with It. candidates.

You had phone numbers for IS-, and you had a 

pretest of 3-. and you report that you had interviews 

complete with 11, right? {Ms. Coleman writing on the 

large white pad on the easel!.

A That includes the pretest completions.
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a That includes the pretest.

So there were & additional completed'?

A There were actually 5 pretest completions and 5 

the numbers that you have as 3 and fi should read 

"S” and there were 1 completions from the random

samplen and there were two completions from the pretests 

a total of 11 completions for the industrial group.

.(2 Perhaps we are getting too refined here.

The commercial group had — let me start on a

fresh sheet-

■Cns. Coleman turns to a clean sheet on the 

large white pad on the easel.1

(3 Uhat you did.-, Hr. Gaffin-, as far as the commercial 

group and the residential group were concerned-, was 

also to include the pretest results in your 

tabulations^ wasn’t it?

A Yes.

a And you started out with the universe in commercial 

in the commercial group of 213 total businesses called

A Combining the commercial-
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a And of that group you found numbers for 157 of them-, 

combining the two?

A Yes.

(3 And then separating them out-, you had telephone 

numbers for bT of the movers and of the 

constants?

A I believe that is correct-

(3 And your original sample from this group was 41 of 

the bl phone numbers-, and 55 of the BB phone 

numbers^ is that right?

A Correct-

13 And it was your opinion that if you had been able 

to call these-, then you could measure the level of 

confidence about the response of the BBi right?

A That is correct-

fl Now-, in fact-, you had completed interviews according 

to your report with only 15 of the movers-, and 

according, to your report-. 35 of the people who were 

still where they had beeni right?

A Correct-

fl And of this group there were-, according to your report 

five pretest interviews of the 15 and five pretest 

interviews of the 35?

A I think it is 4 and 5-
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a Actually it is. 4 and S-. even though your report says

S and Sf

A I believe the truth is S and 5-

a Son actually! this number is only IHi right?

A I am not sure about that.

(2 lilelln you can check that-

A Yes.

a Now? your statistics then that you display here in the 

slide are based for the commercial class on this 

response given by these 14 or IS and the responses 

given by those 3S?

A Yes-i given the fact-i howevern that each of the LT and 

the fifl were attemj^ted.

d Right.

You found the situation when you started to call 

the 45 and the SS-. that in the language that you used 

here-. "The samples would not yield sufficient 

interviews for the projectn" right?

A In.my opinion! correct.

(3 How many interviews did you conduct these three days 

of interviews of the commercial group?

A I don’t have that number available.

13 But you end up with complete interviews of 14 and 3S?

A I believe IS and 3S! or even 14 and IS and 3S.
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a Now-, when you testified in response to Hr. Murphy’s 

questions that you were - that your survey actually 

consisted of a census rather than a sample, what you 

meant is you tried to.call all of the people for 

which there were phone numbers, is that right?

A That is correct-

a But it was not a census of the 2^3?

A That is correct-

a And in terms of the completed interviews, there were 

only HI total interviews*, right?

A There were 45 or SD-

a Or 50-

Now. as far as the residential group is concerned, 

we had the same sort of breakdown-

Of the residential, you had a total, using the 

same terms here for your universe, of what was given 

to you by CEI as 5L4 residential consumers*, right?

A Yes. sir. that is correct-

fl And you found telephone numbers for only S2fi of them?

A I found numbers for 525. that is correct-

fl And looking at them as movers and constants you found

phone numbers for 250 of the movers and you found 

phone numbers for 23fi of the constants?

A Correct-
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<3 Now, your original sample here consisted of lES 

niovens and 115 of the constants?

A That is correct-

a And as regards the residential group, also it was your 

statement that after three days of interviewing, 

it became apparent that the sample would not use 

sufficient interviews for the project-"

Do you recall that statement? ''

A Yes-

fl How many interviews of the residential consumer were

made during the three days when you made that 

document?

A I don’t have that available-

fl You don’t have it for residential either?

A No- I don’t have them available-

fl Idell, the interviews actually completed of this group 

were 40 of the movers and 113 of the constants, is 

that correct?

A That is right-

fl When you had completed your interviews of the 

residential, you also included 5 i.pcet est witb_-.i 

the 40, so it is 35 plus 5?

A That is correct-

fl And the 113 includes 5 pretest interviews?
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A That is correct-

(3 And similarly-, here-, when we talk about making a 

census, you set out to call all of the SSfl for which 

you had phone numbersi-right?

A Correct.

(3 Idhich was not going to be a census of the 5m?

A Correct.

a And in terms ot your completed intervleus-of the IbM,

you only sf)oke to 1S3?

A hie spoke to 153.

a nr. Gaffin-, when you were testifying in response to 

questions by Hr- Hurphy this morning — well-, strike 

that.

Let me turn to another, unrelated subject-

hJe are talking — we were talking about this 

morning-, about some of your political polling 

interviews-, and what happened if you found yourself 

speaking to a IL-year-old high school student about 

whether he or she wanted to vote-, who they wanted to 

vote for in the coming election, do you recall those 

questions?

A Yes.

a You used the term "filtering questions"?

A Yes.
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a When ue discussed that?

A Yes-

3 And what you meant by "filtering questions" was a 

question which is designed to-make sure the 

interviewer is talking to someone who is informed on 

the subject and will give you. good answers-, ar.d by 

"good" we mean informed answersi that this is a 

person-- who knows what he or she is talking about-, 

ri ght ?

A No - _

a Do you make surveys where,it is important to determine 

whether or not the individual is eligible to respond 

to the survey because of the uses to be put or the 

type of information that you were gathering?

A Not with regard to the uses to be put- 

With regard to the information to be gathered-, 

that could be applicable.

(3 If you wanted to report to the Ohio Democratic 

Committee on the number of people who believed that 

particular individual was a good candidate for

governor —

A Yes-

fl -- you would want to

of registered voters

be reporting to them in terms 

at the very least-, would you not?
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A Probably-

a -- and perhaps even registered Democrats?

A If we were dealing with a primary contest-

13 Yesn probably so; and therefore,--in terms of collecting 

your information, it would introduce an error into the 

tabulations if the responses concerning preferences 

for a particular candidate in that situation came 

from persons who were not registered voters or persons 

who were not registered Democrats?

A Right, conceivably:

13 - Now, in the- survey that-you did for CEI here,-it was

important, wasn’t it, for you to determine whether 

the person — and when I say "you" I mean your staff - 

that they spoke, — that the person that they spoke 

to was someone who was knowledgeable about the 

subject matter of the interview, was it. not?

A • Not necessarily.

13 You were supposed to be finding out what a particular 

group.of people thought; isn’t that right?

A Yes-
13 So it was important for you to find out whether the 

person who answered the phone was someone competent 

to give you information on the subject of the 

information; right?
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A No.

(3 You mean you didn’t care who you talked to n who the 

interviewer talked to?

A No.

Q Idelln it was then important! wasn’t it-, to establish

the respondent’s elibility to answer the question on j

the questionnaire? I"1J
A It was important to establish tha^ the respondent 'j

was the person who was on the list of. persons or ■

companies to be called-

a Because if the person who answered the phone is not 

the person on the listn then their responses shouldn’t
1 a

be tabulated in the questionnaire! right? - ;
h

A No person who is not listed on the list ought to have J,I

I been interviewed. *<j

a Now! it may be! that the extent that persons listed 

on the CEI list! that the person is the bookkeeper 

of the company! for example! that that is not the 

person who made the decision to switchi right?

A Is that possible?

(2 Yes- fl
1

A I suppose so-

(3 You took the names from CEl! and you assumed that the 

names they gave you would be people who would be in a f
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position to answer the questions that were askedn is 

that right?

A Yes.

(2 So that there are no questions in your questionnaire '•

which ask whether the individual who was called knew ,5

about the service to that locationn the electrical j

service six or ten years agoi right? |

A No- I
(3 .And there is no question which asks whether the person 

who answers the phone knows about the electrical 

service given to the company at the date they are |

called; right? j

A No- I believe_that is not correct- ;|

a hJelln you did have questions which saidi "Who serves , |

this location!" right?

A Yes. 

fl And you had in mind that question when you answered 

"No" to my earlier question; right?

A At least that question.
^1fl That is — I think it is the first question on the j

questionnaire! if I am not mistaken? s

A You are mistaken. J

fl Ide have some initial questions that the interviewer

is supposed to ask! "Are you the Hr. Jones who used to j
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be located at 4MSM Broadviewf"

A Right- That is in the introduction.

a And that is in the introduction?

A Yes-

(3 And in the body of the questionnaire the first 

question is, "lilhat electrical utility company now 

serves your company?"

A No- That is the first question for the industrial ■

• respondents-

£3 But you structured the questionnaire differently for 

the commercial and residential, is that right?

A Yes- The introductions are different, and the 

first questions are different-

fl So that, although the first question was £3uestion No 

1, in each of the questions it is different, each 

respondent gets asked what company serves you, 

right, within the first few questions of the 

interview?

A Either what company serves you or what company 

serves your present address, yes-

fl And preliminarily to asking that question or to 

asking a question about whether the person believes 

their electrical bill is higher or lower, there is 

no filter question to determine if your respondent
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is knowledgeable about those issues, is there?

A Is knowledgeable?

(3 Yes.

A No -

a Isn’t he — you accept a situation where the person 

may answer "Don’t know" to those-two questions;

right, and you just include that?

A lilhich two questions?

(J If your respondent doesn’t know what the electrical 

bill, whether it is higher or doesn’t know who serves

you. you check "Don’t know"?

A That i s right.

a. And you go on to the next question?

A That is correct -

Now, when you were interviewing businesses, your survey 

questionnaire called for the interviewer to ask for 

the president or the chief operating officer of the 

company*, is that right?

hJhen we were interviewing commercial customers; that

is correct-

And in those instances where the interviewers did 

not write in the information about the name of the 

company or the name of the person, then they had to 

glance back to the other work sheet and fill in that
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information? J

A Pardon me? 

a In those instances where the interviewer did not fill 
IH 

in before making the call the name of the company and 

the address they wanted to aski "Are you the ||

so-and-so who lives at such-and-suchn and they have j

to glance back at the work sheet to get that? ;

A You are asking about two different types of ' |

a i 

interviews-i I believe-

The commercial interviews that I thought you were I

asking about initially-, since there are two J

possibilities-, the name of an individual could have i

been listed-, or the name of a company listed-, and if |,

the name of an individual was listedn then the 

interviewer asked to speak to the individual- 

If the name of the company was listed-, then 

the interviewer asked to speak with the President 

or the Chief Operating Officer of the company­

fl How do you know that is the person that your 

interviewer spoke to?

A How do I know?

fl How do you know-, looking back now at the survey 

questionnaire-

A I believe that my interviewers are truthful-

- ——————   ---------------------------------------------------------------------------------- - ... ----------------------------------- ---- ------------------------------ 3*211
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0 I see-

Nou 1 when you told us about the industrial 

customers in your discussion of that group in your 

report! you stated —

A Which customers? •

(3 The industrial customers.

A Thank you.

a You stated that the persons — thaf'your interview

is attempting to call those persons who signed the 

contract letter-, or failing that-.-, any person who was 

connected with the company^ is that right? And I am 

reading from your report here-

A Let me check that. r

lAfter an interval.!

A That is correct.

a And there was not in the survey questionnaire itself 

for industrial customers any guidance for the 

interviewer as to who to ask for if the president 

wasn’t there! right?

A Theyw ere not asking for the president in the 

industrial companies.

a I am sorry. They were asking for the person on the 

letter?

A Yes.
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(3 And if they don't get the person on the letter-i the 

survey questionnaire does not tell them who then to 

ask for?

A That is correct.

S So they are then without written instructions as to 

how to proceed 1 and they'may proceed however they see 

fiti is that right?

A No.

(3 When you give these interviewers work to do in the 

nature of questionnaires! you attempt to. lay out what 

has to be done in the survey questionnaire-, do you 

not?

A The procedures-, yes-

i3 And those procedures would go even so far as to 

include telling them what code name to use-, what they 

call the respondents! is that correct?

A Ves­

ts Do you tell them they ought to use the code name 

"Tom" or "Nary Peterson"?

A That is correct-

(3 And if it is appropriate for themk if they don t find 

the person whose name is on the letter! then to look 

for someone else! and there ought to be an instruction 

on what they should do then to find the proper
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respondents right?

A I don’t believe so-

(3 You leave them to their own devices on that?

A No.

The reason that there was no instruction in the 

questionnaire about that as far as the industrials 

were concerned was that it was our experience from 

the pretest that when we asked for the individual 

who had signed the contract letter-, and if that 

person was not there-, we would be referred to some 

appropriate person or department* within* the company 

who dealt with these matters or knew about who had 

dealt with these matters.

(2 How does the interviewer knpw let me back up.

How does the respondent know what the 

questionnaire was about if the first question was 

the one on the industrial questionnaire-, and that 

is-, "Hello-. I am Mary Peterson-, and I am calling 

long-distance. hay I speak to blank-, please?

How can the respondent tell from that who ought 

to be talking to Hary Peterson?

A By asking for a specific person.

(3 I understand that-. Hr. Gaffin-, but if the specific 

person is not there, how does the person on the
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other end of the line, the respondent, know who you 

ought to be referred to?

A Are you asking me hou the respondent knows or the 

interviewer?

(3 How the respondent knows-

A Well, the respondent will say one of several things, 

either, "Hr- and Hrs- So-and-So is not here or no 

longer works for the company, or we will connect 

them."
a Or they will say, "He will let you talk to Hr- Hart," 

or whoever, and ray question is, how would the 

respondent know they ought to connect you to sorae

un.j asked for^’ How would they know other person than you asKeu ui

who to select?

A Okay, in.most-cases the respondent may not know if 

the respondent isn’t the respondent being asked for 

until the first couple of questions of the 

interview have been completed-

At that point the respondent will either be able 

to continue, or the respondent will say, "Halt a 

minute- You are talking about soraething not in ray 

bailiwick. Let me connect you with soraeone who 

knows more about this-"

a So that in the case of the industrial interviews, at
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least there is some preliminary conversation between j|

i 
the interviewer and the first person who picked up I

the phonen which doesn’t get recorded on the survey |
i| 

questionnaire^ |

A That is correct- i'j
I

13 And it may well be that in the course of that

preliminary conversation your interviewers are .

introducing topics in order to^seek out the right |

person which is going to tend to bias the results |

that come out of itf ,|

A I don’t believe so- |

(2 Uelln they have an opportunity in this discussion-.

because they were trying to track down some^other <
* !

person and to say things which are not listed on the

survey questionnairei

A Yes-, but they receive

about that-

(2 And you rely on them

require that information to be recorded on the survey |

questionnaire! right? jj

A That is correct-

i3 Now-, where there is’an individual name listed 

strike that-

There are sometimes individuals names listed

11 
»« 
iif 

....................................................................................................................................................... ...............................................................................................................

ri

very specific instructions

1

'5

to follow them-, and you do not
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for commercial enterprises in this work that you didn 

right?

A Yes •

(3 And you call the individual and ask him about his 

business’s electrical bill?

A Yes-

(3 Idhich is one of the questions on the questionnaire?

A Yes-

(3 Hou do you know that person understands what you are

referring to?

A I don’t know where there would be room for confusion- 

i3 Suppose the individual is the landlord-, and he owns 

several properties- hlhat is he to understand you 

mean when you say-, "I want to ask you whether your 

business’s electric bill is higher or lower or just 

about right?"

A Ue have already pinned him down to a specific address 

initialljti

(3 When you have done that-, you have done it through a 

question which says-, "Are you the hr- Brown who used 

to be located at such and such an address-, or are you 

located at such and such an address-," right?

A Yes-

fl Andi if you ask him-, "Are you the Mr- Brown-, and are
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2 you located at such and such an address-, and tlr-

3 Brown is the landlord-, and he is not at that time

4 located at that address-, and he is only located

5 there when he goes there to check the properties-.

6 how is he going to understand your question that

7 - deals with the electric rates at that property^*

8 A
I really don’t think there is a problem-, but let me

9 check the introduction to that group of

10 questionnaires -

11 -CAfter an interval-!

12 A I don't see any ambiguity-

13 a You do not-

14 Isn’t it true when your interviewer made the

15 for the respondents-, that there are many

16 instances where the respondents would say-. I don

17 have a company- I have no business f

18 A Not initially-

19 a But later onf

20 A Yes-

21 a And there were actually some initially where they

22 said that-, if you look-

23 A liJhere interviews were not completed-

24 (2
The landlord may not think of his ownership of

25 rental property as a business-, particularly if he
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is doing something else at the same timei right?

HR. nURPHY; Objection. May I

approach the bench?

THE COURT: Yes-

{The following proceedings were had at the 

bench:1

riR. nURPHY: Your Honori it strikes

me that we have gone beyond the hypothetical and 

we are entering an area of speculation-i and I 

obj ect •

THE COURT: Where are you going with

this? What are you going to prove?

ns. COLEMAN: Your Honor-, the

survey is in the realm of speculation-, and I 

intend to prove that since you would not exclude 

it on the basis of its unreliability displayed 

on its face —

THE COURT: I mean-, you know-,

Ms. Coleman-, that anything is possible in this 

world-, anything is possible in the area of 

speculation.

Now-, I think that I have given you a wide

latitude here to speculate-, but there comes a
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point beyond which it becomes an absurdity- 

You can go on for days hypothecating 

speculative situations-

ns- COLEtlAN: I am dealing with

specific instances-

THE COURT: Uell-i let’s get

down to specifics.

I will sustain the objection! and let’s 

proceed to something specific-

{End of bench conference-1

THE COURT: I will sustain the

objection! and proceed to something material!

please-

BY ns- COLEHAN:

(2 Fir- Gaffin! when you mentioned to us "filter 

questions" before! the purpose of those is to filter 

out those people who you don’t want ending up in the 

ultimate tabulations of answersi isn’t that right?

A There were two purposes-

(3 Uhat is that?

A The second one is to make respondents comfortable 

with the process of answering the questions in the 

questionnaire.
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(3 You are saying that sometimes you use a filter 

question that has no signif.icancef

A Correct- The purpose is to not qualify or disqualify 

a respondent-, but to make them more comfortable iJith 

the process of answering questions-

(3 And you do conduct questionnaires with respect to 

qualifying or disqualifying the respondent-, and you 

do that by asking filter questions^

A Yes-

fl In this case-, however-, in every one of the interviews 

that you completed-, you kept going on with the 

questions-, even if someone responded to you that 

they did not know the answer to the initial questions-, 

right?

A Yes - 

ns- COLEflAN: This is a problem

because I don’t have these charts-

fl Turning back-. Hr- Gaffin-, to the situation in which 

we started out with the total number of phone

numbers —

THE COURT: Supposing we take

our afternoon recess-

Ladies and gentlemen- — 

MS. COLEMAN: That is fine-. I
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could use the time-

THE COURT: Ladies and gentlemen

please during the recess keep in mind the Court s 

admonitions. Thank you-

-CRecess taken-l

THE COURT: Please be seated-

Bring in the jury-

{The jury was reseated in the jury box 

and the trial continued as follows:?

THE COURT: You may continue!

ris- Coleman.

ns. COLEHAN: Thank youn your

Honor-

BY ns. COLEnAN:

a During the break-, hr- Gaffin-, I was able to spare us 

the agaony of waiting while I write this up-, and I 

have placed on the board by class of customers and 

total the information that we have gone through as 

far as the Gaffin universe-, the numbers that you were

given to work with-

A 

a

Yes.

Which is here {indicating?-, and the number in each 

includes-, for whom you found phone numbers here-, 

and the number of completed interviews-, which is on
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the third line-, and are those numbers correct as they 
I

stand? I
1

A I believe so- |

(3 And I have also put up the information gleaned from^ ,

your survey regarding the number in each classi and

the total who said that they recalled switching

companies when the interviewer asked them the 
I

question, and that w-as 113 of the residential and

MS of the commercial and 6 of the industrial and

and for a total of ILL-

Are those figures correctly taken from-your

surv ey?

A I believe they are-

fl And that ILL who recalled switching is less than the

total number of completed interviews which was SIM?

A Correct-

a Now-i of the 3a people who did not recall switching,

your interviewers continued to ask them the remaining

questions on the questionnaire, right?

A That is correct-

fl And their responses are included in the completed

interviews?

A That is correct- *

fl Even though they didn't recall the switching when
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asked?

A Even though they said they didn’t recall­

fl And similarly you have a question you have 

incorporated two questions whether they recall , 

wiring changesi is that right?

A There are at least two questions about wiring 

changesi yes-

fl 'And if we look at your survey report on the number 

who recalled wiringn there were L7 of the 

residential-, 30 total of the commercial-, and S of 

the industrial-, for a total of 102 people-, right?

A I am not certain about some of those figures- 

riight I check them?

fl Sure-

-CAfter an interval-1

fl -CContinuingl I believe my numbers-, if it will help 

you-, come from the first time that people were asked 

the question?

A That is what I meant-, for the industrial-, at any rate 

the first time the person was asked-, and then five of 

them -

And there were — they were asked the second 

in which six were able to respond to-, and the third 

question-, which dealt with who paid-, and seven were
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able to respond to that one-

2 Now-, stopping at the threshold question-, the first 

time that they were asked whether they recalled 

wiring-. L? of the residential and 30 of the 

commercial and 5 of the industrial-, for a total of 

102-, said they recalled wiring changesi right?

A Initially -, yes-

a And there are a number of questions which follow the 

question whether they recall wiring changes^ are there 

not?

A That is correct-

(2 — dealing with how they were influenced by who paid-,

essentially?

A How or whether-

(2 And you asked the M4 — pardon me — the L4 people who 

did not recall wiring changes in the first instance-, 

the remaining questions on the questionnaire^ even 

though they didn't remember the wiring changes when 

asked that question?

A I think you are talking about two different questions. 

You are talking about remembering the switch and 

remembering the wiring-

12 Right- Out of 214 completed interviews-, less than 

half the people recalled wiring switching in response
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to that question'! right?

A That initial question.

i3 And you asked those 112 people who didn’t recall 

wiring when asked the first time-, you asked the 

remaining questions on the questionnaire?

A Yes. That is a standard procedure to shake out 

additional information from people who may be 

reluctant to volunteer information initially.

<3 You kept asking the people who said they didn’t 

recall the wiring — as to whether they said they 

were influenced' by who paid for the wiring?

A That is right.

i3 And you don’t know today what overlap there is between 

the 42 — I am wrong again :— the 46 people I will

put a crib on here in case I need to refer to it 

the 46 people who didn’t recall switching at alii 

and the 112 people who didn’t recall wiring changes?

A I am sorry. Uhat is your question?

a My question isi there were 46 people who didn’t 

recall switching?

A Initially.

a And there were 112 people who didn't recall the 

wiring changes?

A Againi initially.
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H And you don’t know whether the 115 includes the Mfl 

or notn right?

A I don’t have that information with men although that 

information is available from .the data.

<2 One could sit down and sort it outn but that is not 

something you have sorted out before you came here 

today?

A That is correct- '

(3 It could be that there is no overlap between the 

twon so as many as ILQ people are involved who 

didn’t know the answers to these to one or the 

other of these questionsn or there may be 115 peoplen 

and that is the rangsn between 115 and ILO people 

that didn’t know the answer to one or the other of 

these questions or both?

A Not necessarily-

You would have to go actually back in and take a 

look at itn because it is possible that a person 

didn’t know the answer to the first question about 

switching, but he did know the answer to the question 

about wiring changes-

H Right-

A And, for example, it is possible that that entire 

— theoretically it is not the case, but it is
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possible that the entire 105 could be different 

from the entire Ibt, but that can’t be the case 

because they add up to more than 514, so there is some 

overlap! and we don’t know if it is a complete overlap 

or just a little?

A Right.

a It is well over 100 who didn’t know the answer to one 

of those two questions?

A Yes.

a Now-, all of the questionnaires relating to the ILL 

people who didn’t recall switching, and all of the 

questionnaires of the 105 people who didn’t recall 

wiring are included in the completed interviews that 

are the basis for the statistics that you put on the 

screen for us this morningi right?

A No.

(3 Pardon me?

A No. Some of the statistics on the screen —

i3 All right.

A Some of the statistics refer to percentages of those

responding.

a Right. You have two instances where they are

broken out separately?

A Yes.
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<3 But aside from, those two instances, the statistics 

on questions of who is influenced by who paid are 

drawn from these BIM completed interviews?

A Yes, but where there were "No" answers or "Don t 

know" answers, there were also reported in the 

percentages on the slides-

(3 And this EIM includes these two -Cindicatingl* It 

includes the MB people who didn’t recall switching 

and the 112 who didn’t recall wiring?

A If in fact there were 112, right-

(2 Now, Nr. Gaffin, given that there were so many people

who didn’t recall switch 

the wiring, that creates 

percentages that you had 

effect on your decision, 

A No.

(3 Not in your mind?

A No. There is no uncerta

(3 Nr-. Gaffin, you have tes

when you asked the peopl 

recalled the switching, 

test their recall-

Do you remember so

A No.

ing or who didn’t recall 

some uncertainty about the 

given us on the question of 

doesn ’t it?

inty about the percentages, 

tified this morning that 

e initially whether they 

that you were not trying to

testifying?
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(3 And is that your testimony?

A Yes; I do not.

£j You are not trying to test their recall-

When you asked them whether they recallsd 

switching, you were not trying to test their recall, 

is that correct?

A Are you asking me about something I testified to 

this morning? '

(3 I am asking you right now-

Is it your testimony that when you asked the 

consumer whether they recalled switching-r-that-you 

were not trying to test their recall?

A The answer to that question is no-

(3 Uhen you ask the various groups of customers : whether 

they recalled switching — of the residential and the 

commercial group of both consumers and movers, there 

were between 10 and 30 percent of the respondents who 

said they didn’t recall; right, depending on the 

class?

A I believe that is true, but if you give me a moment 

to check it, I would appreciate it-

(3 Please do-

■CAfter an interval-1

A Are you referring now to all four classes of
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residential and commercial respondents?

a Idhat I am referring to is all four classes of 

residential and commercial respondents, and I am 

referring specifically to the answers given in 

response to the question, "bJhy did you switch-"

A And your question to me was? —

a Uy question is, among those four classes, isn't it 

true ’that between 10 and 30 percent of the 

respondents said they didn't recall switching, that 

they never switched?

A That is not true-

(3 Looking at the commercial movers on page & of your 

report, you say, "J.0 percent gave the response that 

they never switched," is that right?

A Idell, I am looking at page 2M, and I will go back to 

that page if you wish, but on page 2M, which is the 

summary of the percentage results in tabular form

(2 I appreciate that, fir- Gaffin- I am referring your 

attention — and if I didn't make it clear, I 

apologize — I am referring your attention to one of 

the questions which you asked that tlr- Hurphy 

specifically inquired of you about, and it was the 

question that you called an open-ended question, and 

you said, "Ide asked the customer why they switched-
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Do you recall?

A The "why" --

(3 "lilhy did you switch?"

A Yes-

fl And in response to that questin-, between 10 and 30

percent of the respondents said-, "I never switched-, 

among these residential and commercial classes; isn’t 

that true?

A Now-, let me check that-

fl Yes-

A Again-, I am afraid-, Hs- Coleman-, I am afraid I have

to answer you in the negative.

It is actually betweian — well-, okay- You are 

talking about the reason — again-, I am sorry-, my 

apologies. The answer is yes.

fl And didn’t that raise a question in your mind as to 

whether or not your interviewers had talked to the 

right people or had the right names to begin with?

A No-

fl Now-, how often does your firm-, how often have they 

done surveys which involve testing involving 

asking questions about someone thought? Let me back up.

hlhen I asked you when the survey was done-, you 

testified it was on July-, and July of what year?
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2. A This year.

3 a This year in July?

4 Yes.

5 a And the people that you were asking —to whom you

6 were asking questions! had! according to the

7 information given to you! -switched between n71 and

8 1575?

9 k Correct.

10 a And therefore! in terms of your questions about how

11 high the bill was and why they switched! ^ou were

12 dealing with trying to elicit their recollection of

13 information which they! if they were qualified! knew

14 six or ten years ago?

15 k Yes.

16 a Now! do you have an opinion as to whether there is a

17 relationship between the ability to recall and-the

18 time lapse since the event?

19 k In this case?

20 (2 Generally.

21 A Generally.

22 (3 Yes.

23 A No.

24 a Isn’t it true — I take that back.

25 The farther that someone gets from an event!
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the less that he may remember about it'i isn’t that 

right?

A I don’t know that for a factn no­

di And have you done any other surveys which involve

asking people for information which they learned

ten years ago^*

A Idhich they learned ten years ago?

a Y es •

Have you done any surveys involving asking 

people what they believed ten years ago^

A Yes.

a And was that the primary concern of those surveys?

A Sometimesn yesi and sometimes no•

a It was in this case-i however?

A It was one of the primary concerns-

(3 Now T when you look' through the results your surveyi

Mr- Gaffin --

ns. COLEMAN: Mrs. Richards-i would

you place on the screen — I am trying to tell 

you which slide here-

{After an interval-!

(3 {Continuing! You haven’t provided slides for all of 

the questions in your questionnaires is that rightn

Mr- Gaffin?
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A I provided no slides-

(3 And if we wanted to have information about the 

opinions on bills or the opinions on reasons for 

no switchingn we ought to look to your survey rather 

than the slides?

A I don’t believe there is anything in slide form on 

the open-ended questions-

a I think that is corrects so let’s look at the

questionnaire.

Isn’t it true that in terms of the commercial 

movers-, one of-your interview-groups-i that more of 

them recalled what they thought about their light 

bills seven to ten years ago than.could tell you now 

whether they thought their bills were high or low?

A In terms, of the.commercial movers?

(2 Right.

A In terms of the commercial movers it is true that

the percentage who were undecided about the cost of 

present service is higher than the percentage who 

were undecided about the cost of past service', that

is true.

a And also for this group more of them gave a reason 

for switching than recalled switching in the first

place?
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A inhere are you getting that?

a If you compare the statistics you gave for the 

open-ended question on the reasons for switching

A That is a percentage of those who recall switching- 

That is a percentage of those who gave a reason-

The percentages reported there are percentages 

of people who gave a reason-

(3 Ohn is that right?

A Yes-

fl Now-, looking at your commercial mover summary on page 

7-. you state-. "Respondents were informed that the 

record showed that they switched to tluny Light from 

CEI.at the previous address-." and you asked if they 

recalled why they made a switch-, and you stated that-. 

"All respondents were able to recall a reason-

A Yes-

fl And now you are telling us that when you said-. 

"All respondents-." you. didn’t really mean "all 

respondents-" You meant all who were able to recall 

a reason were able to recall a reason?

A That is correct-

It was meant there was that each of the 

respondents who was able to give a reason was able 

to give a specific reason-
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(3 Although it doesn’t say that?

A No.

i3 And certainly for the commercial moversi Hr* Gaffinn 

there were fully SO percent of them who didn’t know 

who. served their company^ right?

A bJho didn’t know who served their company today-

£3 Right-

A Yes-

ns. COLEHAN: Hrs- Richardsn would

you put the first slide on so we can talk about 

that one. It is hard to talk about numbers 

without that.

tAfter an interval.I

(3 The commercial movers category! Hr. Gaffinn and it is 

the first question! SO percent of them did not know 

who served their premises?

A Yes.

(3 However! on Question 2! when you asked them if they 

recalled switching! fit percent did?

A Yes.

a And they recalled switching even though they didn’t

know who served them?

A Dell! that is a little bit misleading! I believe.

The SO percent of the respondents who were
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categorized as DK or "Don’t Know^J’I really were not jj

people who in fact saidi "I don’t know- ||

If you read through the questionnaires in that I

I I 
group and look at the answers that the interviewers I

reported in connection with that response-. I think |i
you will remember that a great proportion of that J

SO percent-, computer coded as "Don’t Know" were |

people who made comments like-. "Ide don’t have a |

business any longer*! so the question is not |

applicable to us-." but they didn’t refuse to answer

the question. I

Oh-. I wasn’t looking at the refused category-, and 'I

there are SO percent categorized as. "Don’t Know |

who serves their company t" right? :|

tlR. nURPHY: Objection- 'I

THE COURT: Approach the bench-, |1
s 
11  — — — — ‘4

-CThe following proceedings were had at the j

bench:? ■]

HR. HURPHY: I object to the r

repetition. Hr- Gaffin just gave an explanation . . j

of what that SO percent on the sheet as "Don’t j

Know" meant-! and he answered-. "They are not in J

business any longer-." and he said exactly the Sj
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same thing on direct examination- 

nS- COLEflAN: I don't recall that

but I am just trying to move it along-

THE COURT: Let him answer the

question- Let’s move along-

{End of bench conference-1

THE COURT: You may answer the

question-

flS- COLEMAN: I will rephrase the

question-

BY ns- COLEMAN:

H Your tabulation reportsi "SO percent of commercial 

movers did not know who served their company?"

A Who now serves their companyn rightn and my answer to 

that includes the fact that if you look at the 

actual responses that were quoted as DKn they 

included a great number of respondents who saidi 

"Nobody now serves my company because I don't have a 

company -"

(3 Righti and that may deal with the fact that they 

no longer have the companyn or it may deal with the 

fact that they had no company in the first placen 

but that they merely owned the property?
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2 HR. nURPHY: Objection-

3 THE COURT: Sustained.

4 ns. COLEHAN: Hrs- Richardsi would

5 . you please place the second slide onthe projector-

6 {After an interval-!

7 BY ns- COLEUAN:

8 a Noui in the industrial category! Hr- Gaffin-i in terms

9 of the reported memory of your respondents! we have a

10 situation! do we not! where more people remembered

11 who paid for the wiring than who remembered the wiring

12 in the first place?

13
A That is correct-

14
a nr- Gaf.fin! I believe you testified at some length on

15 direct examination concerning the need for the questions

16 in the survey to be properly framed?

17
A Correct-

18 (2 I want to ask you! what was the source of your

19 information that is included in your Question No- 5-

20 Uho told you that?

21
A Squire! Sanders & Dempsey-

22 a And you relied on their representation in including

23 that information in your question?

24 A Yes -

25 12 Now! do you yourself have an understanding of what is
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meant to be triggered in the respondent’s mind by 

that question?

A No-

(2 If you were a respondent to your own surveyi and you 

were asked whether certain changes in wiring were 

neededn you would think it was at least necessary 

to switch from a Huny wire to a CEI wire-, would you 

not?

tlR. nURPHY: Objection-

THE COURT: Sustained-

(3 You found when you did your surveyi hr- Gaffinn 

didn't you-, that there were some instances in which 

the consumer responded voluntarily that-, "Of course 

the wire had to be done to change from a huny pole 

to a CEI pole-." didn’t you find that?

A I don’t remember that-

a Uould you check that?

A It could be checked-

a When you used the language-. "Changes in wiring to 

each location-." is that your language or is that the 

language of Squire-. Sanders & Dempsey?

A I believe that is my language­

fl That is your language-. I see-

If the change in wiring made for a customer when
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2 that customer switched to CEI was a modernization of

3 the customer’s■wiringT would you think that this

4 question would trigger a recollection of that in the

5 respondent’s mind?

6 -— HR. nURPHY; Obj ection.

7 THE COURT: S'ustained.

8 ns. colehan: Hay we approach

9 the bench?

10 THE COURT: No. There is no

11 necessity to approach the bench. The objection

12 is sustained. It is pure speculationn and he

13 has no way of knowing what would be triggered in

14 somebody else’s mind.

15 Please proceed.

16 fIS. COLEflAN: I see.

17 Your Honori stri ke that.

18 BY ns- COLEMAN:

19 £3 Hr. Gaffini when you made the survey questionnaires!

20 did you try to look at it from the point of view of

21 determining how it is going to be understood by the

22 respondent ?

23 A Yas-

24 (3 Do you form some judgment in your own mind as to

25 wnether the questions are clear or ambiguous?
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A Yes.
a DO you ask yourself the question, "If I were called 

by someone asking questions on this questionnaire, 

would I understand what they're talking about?"

A Yes.

a I'd like to hypothesize the situation where you are 

one of the respondents to the survey questionnaire 

as you put yourself in the shoes of that person to 

look it over. And, in your particular situation, 

CEI gave — paid a contractor to remove the code 

violations in your wiring as part of the conversion 

process.

tly question to you is:

when you hear the question: In order to switch

a customer from huny Light service to CEI service, 

changes in wiring had to be made, do you think that 

the removal of the code violations would come to mind?

HR. nURPHY: Objection, if your

Honor please.

the court: Sustain the objection

as to form.

You haven’t laid a proper foundation.

ns. COLEHAN: nay I approach the

benchf
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THE COURT: Yes.

■CThe following proceedings were had at-the 

bench:1

fIR- nURPHY: I object on the

ground that the question as presently posed calls 

for nothing, but rampant speculation-

ns-'COLEHAN: Your Honorn I have

laid a foundation by establishing that this is a 

process that Hr. Gaffin goes through in 

analyzing his questionnaires! --

THE COURT: True-

US- COLEtlAN: — and i therefore! it

is appropriate to ask him what his thought 

processes were when he did that-

riR. nURPHY: That was not the

question-

THE COURT: Exactly right-

Read the question back-

■CThe pending question was read by the 

reporter as follows:

"I’d like to hypothesize the situation where 

you are one of the respondents to the survey 

questionnaire as you put yourself in the shoes of
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that person to look it over- And-i in your 

particular situationn CEI gave paid a 

contractor to remove the code violations in your 

wiring as part of the conversion process-

"Fly question to you is:

"lilhen you hear the question: In order to 

switch a customer from Huny Light service to CEI 

service! changes in wiring had to be madei do you 

think that the removal of the code violations

would come to mind!’"!

THE COURT: Sustained as to form-

{End of bench conference-1

BY.nS. COLEMAN: .

a Mr- Gaffin-, when you did this work on the survey 

questionnaire-i were you fully familiar with the 

different types of wiring which was provided by the 

contractors who were paid by CEI?

A No.-

ns. COLEMAN: Mrs. Richards, uould

you turn the light on?

{Mrs- Richards complies-!

a Nevertheless, even without that information, it was 

your judgment that Question No- S was a good question
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to ask your respondents! is that rightf 

A Yes-

nS- COLEHAN: Turn that off-. Hrs-

Richards•

fplr. Lansdale turns off the light.1

BY ns. COLEHAN:

Q In the case of the questionnaires-, you had a separate 

questionnaire for each of the five categories of 

respondents-, is that right?

A Yes.

(2 And there were slight variations in the order of the 

questions on each of the questionnaires and in some of 

the wording used-, isn’t that right?

A I don’t believe there was any variation in the order-, 

specifically-, the order of the — what I would call 

the substantive questions of the questionnaire.

There were variations in the introduction to 

each of the five versions-, and there were variations 

in what we call the filter questions or the 

introductory questions but i other than that-, there 

were no variations.

a Now-, in terms of the variations that you made-, was it 

your purpose that those should be varied only to 

adapt them to the particular circumstances of the
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respondent or whether it was a mover or a constant?

A No ■

The changes that were made from question to 

question were only questions were only changes 

that would make sense to the various different 

classes of respondents.

a Yes.

And I gather from the way the chart is prepared 

ns. COLEnAN*. <^an I ask your

indulgence^,pleasen Hrs. Richards, to turn it on?

■Cnr. Lansdale turns the light on for the 

screen display.?

ns. COLEnAN: , Thank you, nr-

Lansdale.

BY ns. COLEnAN:

a According to the way the chart is prepared where you 

have, for example here No. S and L, those aren t 

the numbers on the questionnaire, are they?

A That’s correct-

fl Because the numbers on the questionnaires are numbered 

and that question .as varied from questionnaire to 

questionnaire?

A That's correct.

a From class to class?
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A Yes.

a But you have grouped all of the questions under a j
I J 

single heading-, arid by that you intend to signify I

that no matter what the precise wording of the question

was-, we ought to be able to compare the results of j;

that question being asked of one group to the question • ji

being asked of another group-, is that rightf 'j’

A Yes- i
1 *

However-, the question wordings were identical-. *

except that in a case where we’re dealing with a j

commercial clients commercial customer-, we might use 

the word "business" or "company"n --

(3 ^Right. ,|

— and in the case where we’re dealing with a <,

residential customer-, we would use the word d

J a "household" or "residence-" :

ns- COLEMAN: Mrs- Richards, place

Slide 1 on the screen-, please. j

■CMrs. Richards complies-!

MS- COLEMAN'- There may not be a

slide on that- '' ?■

BY MS- COLEMAN: j'

13 You asked a question of many of the respondents-.
the question: j
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"Are your bills higher or lower than 

I’ll find what I’m referring to precisely-

■CAfter an interval-1

(3 On the commercial constants! the first question 

after you identify — after the interviewer 

identified himself or herself is:

"Do you think your business’s present monthly 

electric bill is extremely highn moderate! low?

Do you recall that?

A This was for the commercial constants?

fl Right-

-CThe witness examining his papers-1

A Yes-

The first question after the introduction isn 

"Do you think that your business’s present
t 

monthly electrical bill is:

"A- Extremely high-

"B- hoderate-

"Or C- Pretty low-"

fl And you have that same question as fluestion 1 for 

the other commercial group and the two residential 

groupsn right?

{The witness examining his papers-1

fl Except it doesn’t say "Business"
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A Pardon?

a Except it doesn't say "business" for the residential

A It is the first question for the commercial movers-

For the residential constants, it reads, instead 

of, "Do you think that your business's present 

monthly bill is:" It says, "First, do you think that 

your present monthly bill is:"

(3 And there's similar questions for the other group of 

residential?

A Yes.

a And then the follow-up question to that deals with 

the cost of past electric service in each one of 

those commercial and residential questionnaires?

A Yes.

(3 Now, when you ask the commercial constant their opinion 

of past service, your question was:

"Thinking about to your business’s electric 

bill when you first moved," isn't that right?

A Correct.

a But the question to the mover's groups was worded a 

little bit differently, and that question was:

"Thinking back to your electric bill six to ten 

years ago?"

A Yes.
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£3 Nowi the information that you would get from the *|

movers and from the constants in response to that n I

question is not strictly comparablen is itf I
k That’s true- [ I

* I
(3 The only — ' I

A It might have to — ‘*1
£3 -- if the commercial constant moved six to ten ; I

! ' j 
years agoi rights* 11

A That’s true- I

£3 In facti there was one respondent whoi when asked: I

Uhat your electric bill was when you first moved I
® I

here? Saidn "Ide first moved here in IATSt I can’t j jl

tell you-"

Isn’t that true? I
' I

A I don’t know that that’s truei but I wouldn’t 1
I I

doubt that it might have happened- |j

£3 In order for the client to make use of that informationn |l

they would need a situation where the questions were |

comparable to each other so they could use the data j

from class to class in a consistent matter? |i
i 'I 

A bJelli not in the cases of the questions that you re

referring ton because the questions that you’re *,

referring to are filter questions! and questions i|
!

designed to ease the respondent into the

X
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questionnaire-, and aren’t what I would call substantive 

questions-, and I would guess that s why they weren t 

presented on the slides-

3 Now-, also in presenting the questionnaire and writing 

up the questionnaire-, you testified it’s important to 

try to avoid giving the respondent information-, and 

you want to have the respondent be the source of 

as much information as possible?

A In most cases-, that’s true.

(3 Idell-. it’s true here-, isn’t it?

A In most cases here-

(3 And you want to avoid directing the respondent to

answer in a particular way?

A That's correct-

fl And that is probably especially important where you 

are asking about opinions from six or ten years ago-, 

wouldn’t you say?

A No-, not necessarily-

fl But if one is that much distant from the opinion 

that they once held-, the possibility of their 

being directed or influenced by the questionnaire 

to give a certain answer is even greater than it 

would be if you were asking about ah opin^ion held 

today?
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2 A Not necessarily-

3 a But it may be part of the concern in avoiding that

4 type of question?

5 A It could be.'

6 a Did you not have that concern in formulating your

7 questionnaire to avoid creating memories?

8 A Yes-

9 a Now-1 another.— let’s turn back to the first line­

10 ns. COLEHAN: Nrs. Richards-

11 -Cnrs- Richards places tbe slide on the

12 machine and turns the light on-}

13 BY ns. COLEnAN:

14 0 Your first question was:

15 "Do you remember what company serves what

16 utility serves your company?”

17 And your second question dealt with whether they

18 recalled the switching-i at least as far as this

19 questionnaire summary is concerned?

20 A Yes.

21
<$

ny question is — to you isi with regard to Question E-

22 Idhen you said "Our research of public records

23 indicates that you switched utility companies"-! you

24 were really telling a little fib-i weren’t you?

25 A Yes-
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a You don’t know of any public records which provide 

the information that you gave to the respondents in 

that survey question?

A That's not true.

(3 Did you have at hand public records which provided 

that information?

A I had records.

(2 You had records?

A Yes.

a But your question to the respondent was-. "Our research

of public records-." was it not?

A Yes.

(3 And that would tend to suggest to the respondent that 

there is available to the general public the 

information that he or the company switched utility 

companies-, right?

A Yes.

(3 And being told that that information comes from 

public records-, might tend to make that person agree 

with the statement made to them?

A I don’t know that the use of the word "public" would.

I think that I would agree with you that stating, 

the question in terms of "us having information or 

research that indicates X or Y" would encourage a
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"Yes" answer.

But the reason that that’s not of concern to me 

in (Juestion Si from my point of vieui that was taken 

as a fact and was not a substantive result- That isi 

the answers to that question were not of substantive 

importance.

(3 Idhich is why you didn't exclude the people at the time 

they said they didn’t recall

A That’s correct.

(2 — but continued to ask them questions- ,

Nowi in addition to that form of question on the 

questionnaire! the Question 5 also tells the respondent 

that they switched utility companies before you asked 

them! right?

A It tells them that we have information indicating that 

they did! but thei "Do you happen to recall switching 

utility companies!" then gives them permission to 

say "No."

a Yes-

And it also.

A And! in fact! a number of them did.

(2 Right.

It also tells them that the use of the word 

"public!" that anybody who was interested could go
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2 down to some public office — I don't know what you

3 had in mind — and find out the same information?

4 flR- MURPHY: Object-, your Honor-

5 THE COURT: Overruled-

6 You may answer-

7 A I’m sorry- Did you want me to answer that?

8 a
f

Yes-

9 A Okay.

10 a liJould you like it read back?

11 A No-1 I don' t think so-

12 I think I would agree with you-

13 nS- COLEMAN: Mrs- Richards-, place

14 the second slide of questions indicating M and 5

15 on the screen-, please-.

16 {Mrs- Richards complies-1

17 THE COURT: At this point-, it is

18 now 4:00 o'clock-, and do you expect to spend some

19 considerable length of time with this witness at

20 this juncture so that we should adjourn now and

21 come back on Monday morning to pick it up-, or is

22 it worthwhile to proceed here?

23 MS- COLEMAN: I’m hesitant to

24 answer-, your Honor-, knowing it's Friday afternoon-

25 I think in another IS or SU minutes I could
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be finisbedn but I don’t want to impose on the 

jury.

THE COURT: I don’t think it

will be an imposition.

hie don’t have any great number of exhibits^ 

so T with that in mind-, let’s proceed and complete 

his testimony.

BY ns. COLEnAN:

(2 nr. Gaffinn in what you have indicated as Question No.

St you tell the respondent that wiring changes had to 

be made before you ask them if they recalledn don’t 

youf

A No.

In actual factn the question orders in the 

questionnaire did not do that.

f3 In the questionnairen the first question asked is:

"Do you recall any wiring changesi" and people 

could answer "Yesi" "Noi" or "I don’t know"?

A That’s correct.

And after that question —

(2 And after thatn you told themT and then you asked them 

againf

A That’s right.

(2 And as a result of your telling them this informationn
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2 the number of "Yes" responses went up in a number of

3 the categories?

4 A That’s correct.

5 (2 And it may have gone up purely because you told them

6 that wiring changes took place?

7 HR. murphy: Objection, your Honor-

8 THE court: Approach the bench-

? MS- COLEMAN: ■ - I'll Vlithdrae the

10 question.

11 THE court: All right.

12 BY MS. COLEMAN:

13 a Ue have another instance later on in the

14 questionnaire where first you ask the respondents

15 who paid for the eiring, and then later you tell them

16 who paid-, is that right?

17 A Yes.

18 a And that group of respondents eho don't knou uho paid

19 are asked again — are asked the further question on

20 the questionnaire after you told them that CEI paid.

21 right?

22 A Yes.

23 tj Son in effect-, you’re asking a hypothetical question

24 there about the respondents what the respondents

25 would have done if they knew something they don’t
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